MBEHIIEZED106. 11 BOEFESREEREsR
REBESE: 26
B BmESRAT
158 FERE| mE =E = JEEE | maEEs | RREEY

1. ZEAT(B) 1 5 17 0 0
4 19 65 0 0 100 0

2. XER@E (B) 3 8 14 1 0
12 31 54 4 0 96 4

3. XD E (8) 6 6 13 1 0
23 23 50 4 0 96 4

4. FERE (B) 3 7 13 2 1
12 27 50 8 4 88 12

5. FEIDE(E) 4 11 10 1 0
15 42 38 4 0 96 4

6. B EmE (B) 3 4 15 4 0
12 15 58 15 0 85 15

. BENE 2 6 14 3 1
8 23 54 12 4 85 15

8. ZEEE: (B) 2 5 18 1 0
8 19 69 4 0 96 4

9. ZEiE% (B) 3 8 13 2 0
12 31 50 8 0 92 8

10. ZHHE (B) 1 6 15 3 1
4 23 58 12 4 85 15

1. % TRE (B) 3 10 13 0 0
12 38 50 0 0 100 0

12. KRRE (B) 8 8 10 0 0
31 31 38 0 0 100 0

13. BREER 8 8 9 1 0
FEE) 31 31 35 4 0 96 4

14. RIZAE (B) 2 4 19 1 0
8 15 73 4 0 96 4
SRREEY 92 8
BiRmEE 94 6

—» NmEE20% LAMARENEETS

— WEHEE

= mALE

HHAQSTEEER[ERMCENERERE -
EREHEREIAED - BFISBEIGENL D - LIRSHFINHRERE - 5EH

SE—RHSEEESE -
BRUIZE

RS EROKIERE - BAISERSHSRE
EEE0RK - RIBNNESPIBREETRE

B_MARARBERER - BfIZSBENERRE - RS
DR R BB R EMGRGEMENE -

i MBS TTIE RS

1J5U5m ’

NTBHHARIROT RETRETENCE - RERENREABMES TREETO

BER - #HH -




MBEMIIELZED106. 11BEIETFE

BE: BRETRAT

MRS

=<
=]

)

1.EZERB(BE) 2. KERGRE (B)
BB |EERE| RE | BT | = |kE=E BB | EERE | RE || BT | = |EE=E
B 1 5 17 0 0| |FEE 3 8 14 1 0
BoLt 4 19 65 0 0 | B2t 12 31 54 4 0
oo o co =
i"’@?ﬁla 0% . ﬂéﬁﬁag # 3'5%%
FEERE
0% 4%
mE
22%
e _—
s 54%
74%
3. KD 2 (8]) FEREBE)
BE |FERE | mE | 9o | £ | EEE =[] 3E*‘%ﬁ%\ wmeE | Ba | E | FEE
8 6 13 1 0| [RIEEL 31 7 13 y) 0
23 | 50 4 0| B2t 12 21| 50 8 4
Jesase FE5E8 JerazE
0% 4%
= FEERD =
1% 23% 8% FFEmR
12%
/ e e
u, 23Y% 27%
S]] [‘—éjq_/
50% 50%
b. FEMHE(E) 6. S GRE (8)
B8 |EERE | mE | 99| = | EE=E B8 |EERE | mE | 9 | £ |EEE
B 4] 11 10 1 0 | [FEE 3 4 15 4 0
=Pand 15| 42| 38 4 0| B2t 12 15| 58 15 0
e (] s
THHE e ERRE v
= ’ EEmE 15% U
4% 15% FBRS e
12% 15%
E _—
38% =
42% a
58%




MEHIIERLZEDP106. 11BMEFERSERER

B BRETRATG

.82 8. ZEIEE (&)

BB |FERE| mE | 2T | £ |kEE BB |IFERE| mE | 99 | = |FR
B y) 6 14 3 1| |BEEE y) 5 18 1
BoLt 8 23 54 12 4 | |BLE 8 19 69 4
= e
BRIDE sxe FEEE KEER o=

= 4% “ 0% R
12% = 8%
4%
e =
e 19%
23%
» SE|
=E 0
5% 69%
9. SEEHX (B) 10. SZHME (B)

B8 |FERE|RE | 99 | = |kEE B8 |EERE | mE | 9a | = |FE
RIS EN 3 8 13 2 0| |FEE 1 6 15 3
Batt 12 31 50 8 0 | [B2LL 4 23 58 12

N YU s s
ﬁéﬁ)ﬁ 3E0%%% ﬁiﬂﬂﬂiﬁ 3!54%%§
= EBME
FEEWE 4%
12% =
12% wE
23%
e _— WE
50% 31% R
58%
1. & TRE &) 12.  KERE (B)

B8 |FERE|RE | 99| = |FEE B8 |EERE | mE | 9g | = |FE
RISEN 3 10 13 0 1| |EEE 8 8 10 0
Bott 12 38 50 0 0 | [BXLL 31 31 38 0

BLO FEER = .

%I-I-DUE % 3E%"§ %—: 7-K%DD§ ?_—fﬁ 3'3»%4E

0% 0% 12% 0% 0%
JEH IR
\ré‘iﬂ/ 31%
- / s | | 38%
50% 38% WE
31%




MEMIIRZEDP106. 11BMEFERSERER

R BEESRAT
13. BEFREE (B) 14. RFEAS (B)
B8 |EERE| mE | oY | = | FEE 158 |(FERE| mE | 899 | £ |FE=E
RIEE 8 8 9 1 0| [BBE y) 4 19 1 0
BoLt 31 31 35 4 0 | (B2t 8 15 73 0
Z85% RIBAE St S
% 8%
= = o
4% T
15%

#E

FERE
31%

=&}
35%
e \,
31% i 7]
73%

SEERREEY BiEmaE%
=] mE | AMmE =] mE | AmE
[=Eaynd 92 8 B2 94 6

EfRnEE =
6%

SRn=E

A=




